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Calculator Review e
ASK:
1.  Solve for x: 23x=4x-1

a 1 b 2

c. -1 d -2

2.  Solve for x: logsx = 4

a 16 b. 27
c. 64 d 81

3. Inthe equation logx4 + log9 = 2, x is equal to

S
=
w
o

4. Solve for x: 1+i:3
2 x-2

a O b. p
c. 24/7 d 4

5. If sin’(27)+ cos?(A)=1, then A =

a 63 b. 27
c. 73 d 0
STORE:

to %
6. If f(x) = (16)()0 + X2/3, flﬂd f(64)

C ' ) 128
5 b 7 .....................................................
(16X)°%4+%27°

a.
c. 65 d. 1025 17

7. The expression ¥64a™ isequivalentto ... 1.717286718E10

a. 8a* .
@ 405%/; d.  4a¥d®
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X

8. IfWNNWf(x)= TS what is the value of f(-10)?

5
a -= -
2 ‘ 42
¢ 2 . 5
58 18
9. A solution to the equation 2x? = -10x - 7 is o{ ﬂSk
[NORMAL FLOAT AUTO REAL RADIAN MP u
a :‘;:‘Ez;;“ UL 4 SO
T —
E\Y3=
B\Ya4=
N
E\Y7=

NORMAL FLOAT AUTO REAL RADIAN MHP u

TABLE SETUP

TblStart=-4
aTbl=1

Indent: Auto
Depend: Ask

A= 123 YS§

10. The formula for the nth term of the sequence 3, -6, 12, -24, ¢

a an=-2(3)" b. an=3(-2)

c. an=-2Q3)" @ an = 3(-2)!

11.  Which summation will not Er‘oduce 2+4+6+8+10+12?

6
&> >
a=1

c. 2.(2d-2) d. Zi(c+1)

d=2

JUST TYPE IT IN:

12, Simplify the expression info a single term: % -v300
3

NORMAL FLOAT AUTO REAL RADIAN MF n

Q. 11\/5 b. -10 ’ -15, 58845727

-9]3
c. —9v’§ d. 9\/5 -15.58845727
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13. Express 1.2z radians in degrees M-c =

. 76° b 108° Ly
2. 150¢° < d. 216° > ( (.2 1T) T
4 24 g
14. Evaluate: > (k+2)*

k=1

NORHAL FLOAT AUTO REAL DEGREE HP n

g 6 b. 324
m d 553 R 216,
> ((x+2)°)
®=1
e /_\ ............................................ 432
15. The expression 97 272 is equivalent to ey o102

...9.’.2...............................' ................
o ¥ @V ............................ 140.2961154.
c. 243 =773+ ¥

TRIG GRAPHS:  of\2
\® 2” J Nd‘l‘\
s i/\\x/\

16. Which equation represents the graph at right?

a. = -2sin2x b. y=-2sinzx
é-c. y = -2c0SZXD d. y=-2cos3x

17. Which graph represents one complete cycle of the graph of the ec

NORMAL FLOAT AUTO REAL RADIAN MP n

N\
VA
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18. Which equation is graphed in the diagram below? Q- "df\

A

" wiadow
aﬁ x: 0,36

:2*:; »x \5: 0'8

I T TR T N T
| S . P N U S
3 6 9 121518212427 30

Y

(=

xJ+8 b. y:3cosh5

(=

a. y:3cos{30
c. y:—3cos[;—0x]+8 @y:—3cos(%;<}+5

[z
19. Relative to the graph of y = 2cosx, what is the shift of the graph of y= 2COSLX - EJ ?

XJ+5

o Fleft b. = up C asrrm
O %righ’r d. down ° bg 3“""’ 7

paT & pctth UM 37 000t ba'th

ASC
20. Expressed in simplest form i'® + i® - 2i° + i*® is equivalent to x e (‘ 17'; ”) ff
1 b, -1 Y (" ' / )

a.
c. i d -

Hla A

21. Given the complex number a + bi, where a is the real part and b is the imaginary part,
find the value of a in the sTr'nplified form of (6 - 2i)(3 + 4i)?
-

1 D>

a.

e bi o, i ol
22. Expressed in a + bi form —— _is equivalent to Il

3+i) Tk
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